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EXERCISE 23.1 PAGE NO: 23.12

1. Find the slopes of the lines which make the following angles with the positive

direction of x - axis:

(i) — m/4

(ii) 27/3

Solution:

(i) — /4

Let the slope of the line be ‘m’

Where, m = tan 0

So, the slope of Line is m = tan (— n/4)
=—1

= The slope of the line is — 1.

(i) 2n/3

Let the slope of the line be ‘m’
Where, m = tan 0

So, the slope of Line is m = tan (271/3)

tan (23_1[) = tan (11 —g)
en(5) - (-3

n(2) -

». The slope of the line is -\3

2. Find the slopes of a line passing through the following points :
(i) (3,2)and (1, 4)
(i) (at’y, 2aty) and (at’,, 2at,)
Solution:
(i) -3,2)and (1, 4)
By using the formula,
Slopeofline, m = —

Xp—Xy

So, the slope oftheline, m= _%—2
1-(-3)

=2/4

=1/2
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= The slope of the line is Y%.

(i) (at’;, 2at;) and (at’, 2at,)
By using the formula,

Slopeofline, m = 22—2*
- |

Now, substitute the values cea

Theslopeofthe line, m= —2—3*

at; —aty

2a(t,—ty)

= a(e2-2)

2a(ty —ty)

= oty +oy LSince, (@7b?=(a—b) (a+b)]

2

.

. The slopeoftheline is t, +t,

3. State whether the two lines in each of the following are parallel, perpendicular or
neither:

(i) Through (5, 6) and (2, 3); through (9, —2) and (6, —5)

(ii) Through (9, 5) and (- 1, 1); through (3, -5) and (8, -3)

Solution:

(i) Through (5, 6) and (2, 3); through (9, -2) and (6, —5)

By using the formula,

Slopeofline, m= ?
g !
The slope of the line whose Coordinates are (5, 6)and (2, 3)
23—k
s 7%
> N
- -3
=1
So,my=1
The slope of the line whose Coordinates are (9,—2) and (6, — 5)
_—a—]
27 6-9
_
- -3
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Here, m; =m,=1
= The lines are parallel to each other.

(ii) Through (9, 5) and (- 1, 1); through (3, —5) and (8, —3)
By using the formula,
Slopeofline, m= e

Xg—Xy

The slope ofthe line whose Coordinates are (9, 5)and(— 1, 1)

_1-5
g R e
—4
T
=2/5
So,m;=2/5
The slope of the line whose Coordinates are (3,—5) and (8, — 3)
~3—(-5)
T
=2/5
So,my;=2/5

Here,m;=m;=2/5
<. The lines are parallel to each other.

4. Find the slopes of a line

(i) which bisects the first quadrant angle

(ii) which makes an angle of 30° with the positive direction of y - axis measured
anticlockwise.

Solution:

(i) Which bisects the first quadrant angle?

Given: Line bisects the first quadrant

We know that, if the line bisects in the first quadrant, then the angle must be between line
and the positive direction of x - axis.

Since, angle = 90/2 = 45°

By using the formula,

The slope of the line, m = tan 0

The slope of the line for a given angle is m = tan 45°

No, m =1

= The slope of the line is 1.

(i) Which makes an angle of 30° with the positive direction of y - axis measured
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anticlockwise?

Given: The line makes an angle of 30° with the positive direction of y — axis.
We know that, angle between line and positive side of axis => 90° + 30° = 120°
By using the formula,

The slope of the line, m = tan 6

The slope of the line for a given angle is m = tan 120°

So, m=—13

». The slope of the line is — V3.

5. Using the method of slopes show that the following points are collinear:
(i) A 4, 8), B (5,12),C (9, 28)

(i) A(16, — 18), B3, — 6), C(- 10, 6)

Solution:

(i) A4, 8),B (5,12),C (9, 28)

By using the formula,

The slope of the line = [y, — y1] / [X2 — X1]

So,

The slope of line AB = [12 - 8]/ [5 - 4]
=4/1

The slope of line BC = [28 - 12]/[9 - 5]
=16/4
=4

The slope of line CA = [8 - 28]/ [4 - 9]
=-20/-5
=4

Here, AB=BC =CA
=~ The Given points are collinear.

(i) A(16,— 18), B(3, — 6), C(— 10, 6)

By using the formula,

The slope of the line = [y, — y1] / [x2 — x4]

So,

The slope of line AB = [-6 — (-18)] / [3 - 16]
=12/«13

The slope of line BC = [6 — (-6)] / [-10 - 3]
= 12§ -13
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The slope of line CA = [6 — (-18)] / [-10 - 16]
=12/-13
=4

Here, AB=BC =CA

=~ The Given points are collinear.
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1. Find the equation of the parallel to x—axis and passing through (3, -5).
Solution:

Given: A line which is parallel to x—axis and passing through (3, -5)
By using the formula,

The equation of line: [y — y; = m(x — X;)]

We know that the parallel lines have equal slopes

And, the slope of x—axis is always 0

Then

The slope of line, m =0

Coordinates of line are (xy, y;) = (3, -5)

The equation of line =y — y; = m(x — x;)

Now, substitute the values, we get

y—(-5)=0(x~3)

v+ 5=0

=~ The equation of lineisy +5=0

2. Find the equation of the line perpendicular to x—axis and having intercept — 2 on
X—axis.
Solution:
Given: A line which is perpendicular to x—axis and having intercept —2
By using the formula,
The equation of line: [y —y; = m(x — X1)]
We know that, the line is perpendicular to the x—axis, then x is 0 and y is —1.
The slope of line is, m = y/x
=-1/0

It is given that x—intercept is -2, so, y is 0.
Coordinates of line are (x;, y1) = (-2, 0)
The equation of line =y —y; = m(x — x;)
Now, substitute the values, we get
y-0=(-1/0) (x - (-2))

x+R8=0

=~ The equation of lineis x +2 =0

3. Find the equation of the line parallel to x—axis and having intercept —2 on y —
axis.
Solution:
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Given: A line which is parallel to x—axis and having intercept —2 on y — axis
By using the formula,

The equation of line: [y — y; = m(x — x)]

The parallel lines have equal slopes,

And, the slope of x—axis 1s always 0

Then

The slope of line, m =0

It is given that intercept is —2, on y — axis then
Coordinates of line are (x;, y1) = (0, —2)

The equation of line is y — y; = m(x — x;)
Now, substitute the values, we get
y-(2)=0(x-0)

y+2=0

=~ The equation of lineisy +2 =0

4. Draw the lines x =-3, x =2, y = -2, y = 3 and write the coordinates of the vertices
of the square so formed.

Solution:

Given: x=-3,x=2,y=-2andy=3

X=2
.A = (2,3)

X=-3

tReeole

T T T 1

-0-9-8-7—8-541-2-10 1I3 4 5 6 7

y=-2 D=(3,-2) s |B=(2-2)

=~ The Coordinates of the square are: A(2, 3), B(2, -2), C(-3, 3), and D(-3, -2).

5. Find the equations of the straight lines which pass through (4, 3) and are
respectively parallel and perpendicular to the x—axis.
Solution:
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Given: A line which is perpendicular and parallel to x—axis respectively and passing
through (4, 3)

By using the formula,

The equation of line: [y —y; = m(x — X;)]

Let us consider,

Case 1: When Line is parallel to x—axis
The parallel lines have equal slopes,
And, the slope of x—axis is always 0, then
The slope of line, m =0

Coordinates of line are (x1, y;) = (4, 3)
The equation of line is y — y; = m(x — x;)
Now substitute the values, we get
y-(3)=0(x—4)

y—3=0

Case 2: When line is perpendicular to x—axis
The line is perpendicular to the x—axis, then x 1s O and y is — 1.
The slope of the line is, m = y/x
=-1/0
Coordinates of line are (x1, y1) = (4, 3)
The equation of line =y —y; = m(x — x;)
Now substitute the values, we get
y—3=(-1/0)(x-4)
x=4
=~ The equation of line when it is parallel to x — axis is y = 3 and it is perpendicular is x =
4.
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1. Find the equation of a line making an angle of 150° with the x—axis and cutting off

an intercept 2 from y-axis.
Solution:

Given: A line which makes an angle of 150° with the x—axis and cutting off an intercept

at2
By using the formula,
The equation of a lineisy = mx + ¢
We know that angle, 6 = 150°
The slope of the line, m = tan 6
Where, m = tan 150°

=-1/3

Coordinate of y—intercept is (0, 2)

The required equation of the line is y =mx + ¢
Now substitute the values, we get
y=-x/\3+2

V3y-2V3+x=0

X + Y3y =23

«. The equation of line is x + Y3y = 23

2. Find the equation of a straight line:
(i) with slope 2 and y — intercept 3;
(ii) with slope — 1/ 3 and y — intercept — 4.

(iii) with slope — 2 and intersecting the x—axis at a distance of 3 units to the left of

origin.

Solution:

(i) With slope 2 and y — intercept 3

The slope is 2 and the coordinates are (0, 3)
Now, the required equation of line is
y=mx-+c¢

Substitute the values, we get

=X T3

(ii) With slope — 1/ 3 and y — intercept — 4

The slope is — 1/3 and the coordinates are (0, —

Now, the required equation of line is
y=inx + g

4)
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Substitute the values, we get
y=-13x-4
3y+x=-12

(iii) With slope — 2 and intersecting the x—axis at a distance of 3 units to the left of origin
The slope is — 2 and the coordinates are (— 3, 0)

Now, the required equation of line is y —y; = m (x — X)

Substitute the values, we get

y—0=-2(x+3)

y=—2x-6

Zx+y+8=0

3. Find the equations of the bisectors of the angles between the coordinate axes.
Solution:

There are two bisectors of the coordinate axes.

Their inclinations with the positive x-axis are 45° and 135°

The slope of the bisector is m = tan 45° or m = tan 135°

re,m=lorm=-1,¢=0

By using the formula, y=mx + ¢

Now, substitute the values of m and ¢, we get

vt
x—y=0or y=-x+0
x+y=0

=~ The equation of the bisectoris x £y =0

4. Find the equation of a line which makes an angle of tan ~" (3) with the x—axis and
cuts off an intercept of 4 units on the negative direction of y—axis.

Solution:

Given:

The equation which makes an angle of tan ~'(3) with the x—axis and cuts off an intercept
of 4 units on the negative direction of y—axis

By using the formula,

The equation of the line isy =mx + ¢

Here, angle 6 = tan ~'(3)

So,tan 0 =3

The slope of the line is, m =3

And, Intercept in the negative direction of y—axis is (0, -4)

The required equation of the line is y=mx + ¢

Now, substitute the values, we get
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y=3x-4
= The equation of the line is y = 3x — 4.

5. Find the equation of a line that has y — intercept — 4 and is parallel to the line
joining (2, -5) and (1, 2).

Solution:

Given:

A line segment joining (2, — 5) and (1, 2) if it cuts off an intercept — 4 from y—axis
By using the formula,

The equation of line isy = mx + C

It is given that, c =—4

Slope of line joining (x; — X;) and (y; — y2),

o = TS
Xz—X;
So, Slope of line joining (2, — 5) and (1, 2),
_2-(5) 7
™
m=-—7

The equation of line is y = mx + ¢
Now, substitute the values, we get
y=-7x—-4

y+7x+4=0

= The equation of lineis y + 7x + 4 = 0.



EDUGROSS

WISDOMISING KNOWLEDGE

www.edugross.com

RD Sharma Solutions for Class 11 Maths
Chapter 23 — The Straight Lines

1. Find the equation of the straight line passing through the point (6, 2) and having
slope — 3.
Solution:

Given, A straight line passing through the point (6, 2) and the slope is — 3
By using the formula,

The equation of line is [y — y; = m(x — X;)]

Here, the line is passing through (6, 2)

It is given that, the slope of line, m = -3

Coordinates of line are (x1, y;) = (6,2)

The equation of line =y — y; = m(x — x;)

Now, substitute the values, we get

y—2=-3(x—-06)
y—2=-3x+18
y+3x-20=0

=~ The equation of lineis 3x +y—20=0

2. Find the equation of the straight line passing through (-2, 3) and indicated at an
angle of 45° with the x — axis.
Solution:
Given:
A line which is passing through (-2, 3), the angle is 45°.
By using the formula,
The equation of line is [y — y; = m(x — X1)]
Here, angle, 6 = 45°
The slope of the line, m = tan 0
m = tan 45°
|
The line passing through (x;, y1) = (-2, 3)
The required equation of line is y — y; = m(x — x;)
Now, substitute the values, we get
y-3=1lx-(-2)
y—3=x+2
X_@+5=0
~The equation of lineisx—y+5=0

3. Find the equation of the line passing through (0, 0) with slope m
Solution:
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Given:

A straight line passing through the point (0, 0) and slope is m.
By using the formula,

The equation of line is [y — y; = m(x — X)]

It is given that, the line is passing through (0, 0) and the slope of line, m = m
Coordinates of line are (x1, y;) = (0, 0)

The equation of line =y —y; = m(x — x;)

Now, substitute the values, we get

y—0=m(x—0)

y = mx

=~ The equation of line is y = mx.

4. Find the equation of the line passing through (2, 2V3) and inclined with x — axis at
an angle of 75°.
Solution:
Given:
A line which is passing through (2, 2V3), the angle is 75°.
By using the formula,
The equation of line is [y — y; = m(X — X1)]
Here, angle, 6 = 75°
The slope of the line, m = tan 0
m = tan 75°
=373=2+13
The line passing through (x;, y;) = (2, 2V3)
The required equation of the line is y — y; = m(x — x;)
Now, substitute the values, we get
y—2V3=2+V3 (x—2)
y—2\3 =2 +\3)x—7.46
Q2+V3)x—-y-4=0
= The equation of the line is (2 + V3)x —y—4 =0

S. Find the equation of the straight line which passes through the point (1, 2) and
makes such an angle with the positive direction of x — axis whose sine is 3/5.
Solution:

A line which is passing through (1, 2)

To Find: The equation of a straight line.

By using the formula,

The equation of line 1s [y — y; = m(x — x)]

Here, sin 6 = 3/5
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We know, sin 6 = perpendicular/hypotenuse
=3/5

So, according to Pythagoras theorem,
(Hypotenuse)” = (Base)” + (Perpendicular)®
(5)* = (Base)” + (3)°
(Base) = V(25 - 9)
(Base)’ = V16
Base =4
Hence, tan 6 = perpendicular/base

=3/4
The slope of the line, m = tan 0

=3/4

The line passing through (x;,y;) = (1,2)
The required equation of line is y — y; = m(x — x;)
Now, substitute the values, we get
y—2=(4) x-1)
4y —-8=3x-3
3x-4y+5=0
= The equation of line is 3x -4y +5=0
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1. Find the equation of the straight lines passing through the following pair of
points:

(i) (0, 0) and (2, -2)

(ii) (a, b) and (a + ¢ sin a, b + ¢ cos @)

Solution:

(1) (0,0) and (2, -2)

Given:

(x1> yl) - (Oa O)> (X2> y2) - (2> '2)

The equation of the line passing through the two points (0, 0) and (2, —2) 1s

By using the formula,

Y2-¥
| S i R ,‘2_: (x—%4)
Now, substitute the values, we get
-2-0
y-0=535&"0

y=-X
=~ The equation of line is y = -x

(ii) (a, b) and (a+ c sina, b + ¢ cos a)

Given:

(X1, ¥1) =(a,b), (x2, y2) =(a+csina,b+ccosa)

So, the equation of the line passing through the two points (0, 0) and (2, —2) is

By using the formula,

Y= 3’1—3’2 yl{x X;)

KXo —X

Now, substitute the values, we get
. b+c cosa— b( _a)
y - a+c sin a—a

y—b=cota(x-a)
=~ The equation of line is y —b = cot a (x - a)

2. Find the equations to the sides of the triangles the coordinates of whose angular
points are respectively:

(l) (1’ 4)9 (29 '3) and ('1’ '2)

(i) (0, 1), (2, 0) and (-1, -2)

Solution:

(i) (1,4),(2,-3)and (-1, -2)

Given:
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Points A (1, 4), B (2, -3) and C (-1, -2).
Let us assume,
m; m,_and ms be the slope of the sides AB, BC and CA, respectively.

So,
The equation of the line passing through the two points (x;, y;) and (X2, y2).
Then,
m; = _3—4:-

2-1

—243
= e

—y

ms= T

m;=-7,my=-1/3 and mz3 = 3
So, the equation of the sides AB, BC and CA are
By using the formula,
y—yi=m(x—xi)
=>y-4=-Tx-1)
y—4=-Tx+7
y+7x=11,

=y+3=(-1/3) (x-2)
y+9=x+71
Iy+x =]
x+3y+7=0and

=2 y+ 2 =3(x+l)

Y+2=3x+3
y—3x=1
So, we get

y+7x=11,x+3y+7=0andy—3x=1
=~ The equation of sides are y + 7x =11, x+ 3y +7=0andy —3x =1

(ii) (0, 1), (2,0) and (-1, -2)

Given:

Points A (0, 1), B (2,0) and C (-1, -2).

Let us assume,

m; m, and m; be the slope of the sides AB, BC and CA, respectively.

So,

The equation of the line passing through the two points (x;, y;) and (X2, y»).
Then,
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0-1
ml_ ﬁj
m) — -2

—-1-2

142
ms = m

m; =-1/2, m, =-2/3 and m3= 3

So, the equation of the sides AB, BC and CA are
By using the formula,

y—yi=m(x—xp)

=y—-1=(-12)(x-0)

2y—-2==x

X+ 2y=2
=>y-0=(23)(x-2)

Jy=-2x+4

2x -3y=4
=y-+2 =3(Etl)

y+2=3K+3

y—3x=1
So, we get

x+2y=2,2x-3y=4andy—-3x=1
=~ The equation of sides are x + 2y =2, 2x —3y =4 andy - 3x =1

3. Find the equations of the medians of a triangle, the coordinates of whose vertices
are (-1, 6), (-3,-9) and (5, -8).

Solution:

Given:

A (-1, 6), B(-3, —9) and C (5, —8) be the coordinates of the given triangle.

Let us assume: D, E, and F be midpoints of BC, CA and AB, respectively. So, the
coordinates of D, E and F are
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&
B D C

Median AD passes through A (-1, 6) and D (1, -17/2)
So, by using the formula,

¥y-¥i =(ﬂ)(x‘x1)

Xp—Xy

6 _g_G 1
Ff=—g g e
4y —24=-29x — 29
29x +4y+5=0

Similarly, Median BE passes through B (-3,-9) and E (2,-1)
So, by using the formula,

 da A (M)(X‘ X; )

Xz —X;

-1+9
Fa=— (x+3)

Sy+45=8x+24
8x =S5y —21=0

Similarly, Median CF passes through C (5,-8) and F(-2,-3/2)
So, by using the formula,

y-y= () (x-x,)

Xo —Xy
a
—>+8
o =_ (x—5)

-14y — 112 =13x - 65
13x + 14y +47=0
=~ The equation of lines are: 29x + 4y +5=0, 8x —Sy—21=0and 13x + 14y +47 =0
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4. Find the equations to the diagonals of the rectangle the equations of whose sides
arex=a,x=a'\y=bandy=b".

Solution:

Given:

The rectangle formed by the linesx =a,x=a',y=bandy=b'

It is clear that, the vertices of the rectangle are A (a, b), B (a', b), C (a',b") and D (a, b") .
The diagonal passing through A (a, b) and C (a', b') 1s

By using the formula,

A y1=(m)(x—x1)

Xz X
b'—h
y-b =——(x-2)

(@' —a)y—b(a'—a)=(b'-b)x —a(b'—b)
(a'—a)—(b'—b)x =ba' —ab'

Similarly, the diagonal passing through B (a', b) and D (a, b'") is
By using the formula,

I~ =(M)(X_X1)

Xz —X
, _b-b ,
y-b =——(x-2)

(@—a)y—b(a—-a)=(b'-b)x—a'(b'-b)
(@—a)+(b'-b)x=a'b'—ab

=~ The equation of diagonals are y(a' —a) — x(b'—b) =a'b—ab' and
y(a'—a)+ x(b'-b)=a'b'—ab

5. Find the equation of the side BC of the triangle ABC whose vertices are A (-1, -2),
B (0, 1) and C (2, 0) respectively. Also, find the equation of the median through A (-
1, -2).

Solution:

Given:

The vertices of triangle ABC are A (-1, -2), B(0, 1) and C(2, 0).

Let us find the equation of median through A.

So, the equation of BC is

By using the formula,
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y— i =(M)(X‘X1)

Xz — X,
0-1
F-1= =0

-1
-1 =i
x+2y—2=1

Let D be the midpoint of median AD,

So.D (ﬁ,l—ﬁ-’ - (1,1)

&
Theequation of the median AD is

By using the formula,

y—y1=(ﬁ)(x—x1)
, S+2

y + 1 1(x+ 1)

4y +8=5x+5

5x-4y-3=0

=~ The equation of line BCisx +2y—-2=0
The equation of median is 5x —4y -3 =0
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1. Find the equation to the straight line
(i) cutting off intercepts 3 and 2 from the axes.
(ii) cutting off intercepts -5 and 6 from the axes.
Solution:
(i) Cutting off intercepts 3 and 2 from the axes.
Given:
a=3,b=2
Let us find the equation of line cutoff intercepts from the axes.
By using the formula,
The equation of the line is x/a +y/b =1
®3+y2=1
By taking LCM,
22+ 3y=86
=~ The equation of line cut off intercepts 3 and 2 from the axes is 2x + 3y =6

(ii) Cutting off intercepts -5 and 6 from the axes.
Given:
a=-5b=6
Let us find the equation of line cutoff intercepts from the axes.
By using the formula,
The equation of the line is x/a + y/b =1
x/-5+yl6=1
By taking LCM,
6x — 5y =-30
=~ The equation of line cut off intercepts 3 and 2 from the axes is 6x — 5y =-30

2. Find the equation of the straight line which passes through (1, -2) and cuts off
equal intercepts on the axes.
Solution:
Given:
A line passing through (1, -2)
Let us assume, the equation of the line cutting equal intercepts at coordinates of length ‘a’
is
By using the formula,
The equation of the line is x/a +y/b=1
x/a+y/a=1
X+Y=8
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The line x + y = a passes through (1, -2)
Hence, the point satisfies the equation.
1-2=a

a=-1

=~ The equation of the line is x+y = -1

3. Find the equation to the straight line which passes through the point (5, 6) and
has intercepts on the axes
(i) Equal in magnitude and both positive
(i) Equal in magnitude but opposite in sign
Solution:
(i) Equal in magnitude and both positive
Given:
a=b
Let us find the equation of line cutoff intercepts from the axes.
By using the formula,
The equation of the line is x/a +y/b =1
x/a+y/a=1
Xt+ty=a
The line passes through the point (5, 6)
Hence, the equation satisfies the points.
J+0=4
a=11
=~ The equation of the lineisx +y =11

(ii) Equal in magnitude but opposite in sign

Given:

b=-a

Let us find the equation of line cutoff intercepts from the axes.

By using the formula,

The equation of the line is x/a +y/b =1
x/a+y/-a=1
X-y=a

The line passes through the point (5, 6)

Hence, the equation satisfies the points.

5-6=a

a=-1

=~ The equation of the line is x - y = -1
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4. For what values of a and b the intercepts cut off on the coordinate axes by the line
ax + by + 8 =0 are equal in length but opposite in signs to those cut off by the line 2x

— 3y + 6 =0 on the axes.
Solution:
Given:

Intercepts cut off on the coordinate axes by the line ax + by +8 =0
And are equal in length but opposite in sign to those cut off by the line

2x —-3y+6=0...... (11)

We know that, the slope of two lines is equal
The slope of the line (1) is —a/b

The slope of the line (i1) is 2/3

So let us equate,

-a/b=2/3

a=-2b/3

The length of the perpendicular from the origin to the line (i) is
By using the formula,
= ax+by+d

v aZ+b?

a(0)+b(0)+8
v aZ+b2
8x3

= J13b2

d1=

The length of the perpendicular from the origin to the line (ii) is
By using the formula,

__ |axt+by+d
4= [T
d,= |2(0)-30)+6
“ J22+32
It is given that, d, = d,
8x3 6
V13bz V13
b=4
So,a=-2b/3
=-8/3

~ The value of a 1s -8/3 and b 1s 4.
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5. Find the equation to the straight line which cuts off equal positive intercepts on
the axes and their product is 25.

Solution:

Given:

a=band ab =25

Letzus find the equation of the line which cutoff intercepts on the axes.
sl =25

a =5 [considering only positive value of intercepts]
By using the formula,
The equation of the line with intercepts a and b is x/a + y/b =1
5 +95=1
By taking LCM
Xx+y=3
=~ The equation of lineisx +y =5
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1. Find the equation of a line for which
i) p=5,a=60°
(ii) p=4, a =150°

Solution:
(i)p=35,a=060°
Given:

p=3, o=060°

The equation of the line in normal form is given by
Using the formula,

Xcosat+ysina=p

Now, substitute the values, we get

X c0s 60° +y sin 60° =5

x/2 +\3y2=5

X +V3y=10

». The equation of line in normal form is x + Y3y = 10.

@ii)p=4, a=150°

Given:

p=4,a=150°

The equation of the line in normal form is given by
Using the formula,

Xcoso+ysino=p

Now, substitute the values, we get

x cos 150° +y sin 150° =4

cos (180° —0) =—cos 0, sin (180° —6) = sin O

x cos(180° — 30°) + y sin(180° — 30°) = 4

—x cos 30° +ysin 30° =4

~3x/2 +y2=4

~\3x+y=38

». The equation of line in normal form is -\V3x +y = 8.

2. Find the equation of the line on which the length of the perpendicular segment
from the origin to the line is 4 and the inclination of the perpendicular segment with
the positive direction of x—axis is 30°.

Solution:

Given:

p=4,d=30°
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The equation of the line in normal form is given by
Using the formula,

XCcoso+ysinoa=p

Now, substitute the values, we get

X cos 30° +y sin 30° =4

xV3/2 +y1/2 =4

Vx +y=8

». The equation of line in normal form is V3x +y = 8.

3. Find the equation of the line whose perpendicular distance from the origin is 4
units and the angle which the normal makes with the positive direction of x—axis is
15°.

Solution:

Given:

p=4,a=15°

The equation of the line in normal form is given by

We know that, cos 15° = cos (45° — 30°) = cos45°c0s30° + sin45°sin30°

Cos (A—B)=cos A cos B +sin A sin B

So,
- 1x\/§+1x1 V3 +1
Co8lh = =N—+ =K==
V2§ 2 vz 2 242

And sin 15 = sin (45° — 30°) = sin 45° cos 30° — cos 45° sin 30°
Sin (A —B) =sin A cos B—cos A sin B

So,
1 V3 141
511115=—><———><E=

V2 2. V2

Now, by using the formula,
Xcoso+ysino=p
Now, substitute the values, we get
V3 + 1 Va1
7 Ol N5 y =4
(3+1)x +(V3-1) y = 82
=~ The equation of line in normal form is (V3+1)x +(\3-1) Y= 8V2.

\/5—1

2\2

4. Find the equation of the straight line at a distance of 3 units from the origin such
that the perpendicular from the origin to the line makes an angle a given by tan a =
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5/12 with the positive direction of x—axis.
Solution:

Given:

p=3,a=tan" (5/12)

So, tan o =5/12

sin oo = 5/13

cos a=12/13

The equation of the line in normal form is given by
By using the formula,

Xcosat+ysina=p

Now, substitute the values, we get

12x/13 +5y/13=3

12x +5y =39

=~ The equation of line in normal form is 12x + 5y = 39.

5. Find the equation of the straight line on which the length of the perpendicular
from the origin is 2 and the perpendicular makes an angle a with x—axis such that

sin a = 1/3.

Solution:

Given:

p=2,smg=1/3

We know that cos o= V(1 — sin” a)
=~(1-1/9)
= 2V2/3

The equation of the line in normal form is given by
By using the formula,

X CosS o+ ysina=p

Now, substitute the values, we get

X2\2/3 +y/3 =2

22X +y=6

». The equation of line in normal form is 2V2x +y = 6.
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1. A line passes through a point A (1, 2) and makes an angle of 60" with the x—axis
and intercepts the line x +y = 6 at the point P. Find AP.

Solution:

Given:

x,v1)=A(, 2),0=060°

Let us find the distance AP.

By using the formula,

The equation of the line is given by:

X=X ¥-¥i1

= =

cosB sin@
Now, substitute the values, we get

x—i y-2

= = =T

cos60e sin60¢

x-1 _ y-2

- r

2 z

Here, r represents the distance of any point on the line from point A (1, 2).
The coordinate of any point P on this line are (1 + 172, 2 + \3r/2)

It 1s clear that, P lies on the linex + y =6

So,

-
1+2+2+ %1 =6

3 r
Zr+-=3
2 2

r(V3+1)=6
6
r= \,"E+1 i 3(\/5—1)

~ The value of AP is 3(\3—1)

2. If the straight line through the point P(3, 4) makes an angle /6 with the x—axis
and meets the line 12x + Sy + 10 = 0 at Q, find the length PQ.

Solution:

Given:

x5, y1)=A@3,4),0=n/6=30°
Let us find the length PQ.

By using the formula,
The equation of the line is given by:
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P
cosB sin @

Now, substitute the values, we get
x3 _ y4

cos30c  sin300
x—3 y—4
= =F

= 2
x—\V3y+4Y3-3=0
LetPQ=r
Then, the coordinate of Q are given by
x—3 F—*
cos30°  sin30°

X=3+§r,3’=4+§

The coordinate of point Q is (3 ¥ 1,?51',4- + g)
It is clear that, Q lies on theline 12x+5y+10=0
So,
V3 _
12(3+?r +5(4+3)+10 =0

124/3+5
2

66 +

r=20

132
5 + 1243

132
PQ=jr = 54123

f = —

132
< The valueof PQis 541243

3. A straight line drawn through the point A (2, 1) making an angle n/4 with positive
x—axis intersects another line x + 2y + 1 = 0 in the point B. Find length AB.

Solution:

Given:

(Xl, y1) =A (2, 1), 0 =m/4 =45°

Let us find the length AB.

By using the formula,

The equation of the line is given by:
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XX, ¥ ¥. _
cosB sinB
Now, substitute the values, we get
x—2 y—1
cos45° sin45° d
-2 -1
xi — y;l. =T
vz vz
x-y-1=0
Let AB=r
Then, the coordinate of B is given by
x—2 1

cos450  sin45o
1 r
x=2+ﬁr,y=1+ﬁ

1 r
v e A W e
The coordinate of point B is ( V2 ﬁ)

Itis clear that, B lies on thelinex+2y+1=10

i i
2+—r+2(1+—)+1=0

V2 V2
3r

5+EI'=0

r= 32

- The value of AB is %ﬁ

4. A line a drawn through A (4, — 1) parallel to the line 3x — 4y + 1 = 0. Find the
coordinates of the two points on this line which are at a distance of 5 units from A.
Solution:

Given:

(x1,y1) = A (4,-1)

Let us find Coordinates of the two points on this line which are at a distance of 5 units
from A.

Given: Line 3x -4y +1=0

4y =3x+1

y=3x/4+1/4

Slope tan 6 = 3/4

So,

Sin 8 = 3/5

Cos 6 =4/5
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The equation of the line passing through A (4, —1) and having slope % is

By using the formula,

The equation of the line is given by:
XX, _ ¥YVi

cosB sin@
Now, substitute the values, we get
x—4 y+1

S 3

1 &

5 5
3x—-4y=16

Here, AP=r=+35
Thus, the coordinates of P are given by

X—X; - ¥-—¥i =
cosO sin@
Xx—4 b iy g B
ST P
5 s
4r ar
== ey = 1

4(15)
x=—_ + 4andy
x=4+4+4andy =43 -1
x=8 0andy=2,-4
=~ The coordinates of the two points at a distance of 5 units from A are (8, 2) and (0, —4).

_ 3,

5. The straight line through P(x;, y;) inclined at an angle 0 with the x—axis meets the
line ax + by + ¢ =0 in Q. Find the length of PQ.
Solution:

Given:
The equation of the line that passes through P(x,, y;) and makes an angle of 6 with the x—

axis.
Let us find the length of PQ.
We know that,
X=X ¥Y™hn
cos®  sin@
LetPQ=r
Then, the coordinates of Q are given by

By using the formula,
The equation of the line is given by:
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Kk _ ¥ ¥z
cosB sin®
X = X, + rcosf,y = y, + rsin0

Thus, the coordinates of Q are (x, + rcos6,y,; + rsinf)
Itis clear that, Q lies on theline ax + by + ¢ =0.

So,

a(x, + rcos®) + b(y, + rsinf) + c = 0

= F

ax, +by, +¢

= = B b

ax, +by, +c¢
acosO+bsnb

~ The value of PQ is
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\

1. Reduce the equation V3x + y +2=0 to:

(i) slope - intercept form and find slope and y - intercept;
(ii) Intercept form and find intercept on the axes

(iii) The normal form and find p and a.

Solution:

(i) Given:

V3x + \f' +2=0

y=-V3x-2

This 1s the slope intercept form of the given line.

». The slope = - \3 and y - intercept = -2

(ii) Given:

V3x+y+2=0

VIx+y=-2

Divide both sides by -2, we get

V3x/-2 +y/-2=1

«. The intercept form of the given line. Here, x - intercept = - 2/</3 and y - intercept = -2

(iii) Given:
VX +y+2=0
3%~ y=2

V3x 2

=y -y y -
J (—V3) + 02 J (-V3)" + (-2 J (-v3)* + (-1
Divide both sides by v (coefficient of )2 + (coefficient ofy)?

V3x Yo 1
A 2N

This is the normal form ofthe given line.
So.,p=1cos a=-V3/2 andsina=-1/2
~p=landa=210

2. Reduce the following equations to the normal form and find p and a in each case:
() x+\3y-4=0

() x+y+\2=0

Solution:

) x+V3y—-4=0
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x+\3y=4

X 3 Z
+ v3y

Iz + (v3)?  [1z + (V3) i f12 + (V3)°

Divide both sides by v (coefficient ofx)? + (coefficient of y)*

- 3
L
- 2
The normal form of the given line, where p = 2, cos o = 1/2 and sin o = V3/2

~p=2anda=mn/3

() x+y+V2=0
X —§= V2
— N y _ V2
JEDZ+ (D2 JD2+ (D2 JD2 + (D2
Divide both sides by |/ (coefficient ofx)2 + (coefficient of y)2

X 'y g
V2 V2

The normal form of the given line, where p = 1, cos a = -1/v2 and sin a = -1/72

~p=1and a=225°

3. Put the equation x/a + y/b = 1 the slope intercept form and find its slope and y -
intercept.

Solution:

Given: the equation is x/a +y/b =1

We know that,

General equation of line y = mx + c.

bx +ay = ab

ay =-bx +ab

y =-bx/a+b

The slope intercept form of the given line.
= Slope = - b/a and y - intercept =b

4. Reduce the lines 3x — 4y +4 =0 and 2x + 4y — 5 = 0 to the normal form and hence
find which line is nearer to the origin.

Solution:

Given:



| EDUGROSS

WISDOMISING KNOWLEDGE

www.edugross.com

The normal forms of the lines 3x —4y +4=0and 2x +4y — 5= 0.
Let us find, in given normal form of a line, which is nearer to the origin.
3x+4y=4

X y 4

= + 4 =
JVET+ @7 JE3)7+ (92 (37 + (92
Divide both sides by  (coefficient of x)2 + (coefficient of y)?

3 4 4
T
Now 2x +4y=-5
2x—-4y=5
2X y 5

- o 4’ f—
JE2)2+ (92 J(-2)2 + (92 J(-2)7 + (-9)2
Divide both sides by y/ (coefficient of x)2 + (coefficient of y)2

o, 08y &

2\."5 2\!@ o 2\5 ...... (2)
From equations (1) and (2):
45 <5715

=~ The line 3x — 4y + 4 = 0 is nearer to the origin.

RD Sharma Solutions for Class 11 Maths
Chapter 23 — The Straight Lines

5. Show that the origin is equidistant from the lines 4x + 3y + 10 =0; Sx — 12y + 26 =

0 and 7x + 24y = 50.

Solution:

Given:

The lines 4x + 3y + 10 = 0; 5x — 12y + 26 = 0 and 7x + 24y = 50.

We need to prove that, the origin is equidistant from the lines 4x + 3y + 10 = 0; 5x — 12y

+26 =0 and 7x + 24y = 50.
Let us write down the normal forms of the given lines.
First line: 4x + 3y + 10=0
-4x -3y =10
4x y 10

> L 3 —
JEDZ+ (32 J(92 + (32 J(—4)?Z + (-3)?
Divide both sides by v (coefficient of )2 + (coefficient ofy)?
4 3

—gx—gy —

50.Pp=2
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Second line: 5x — 12y +26 =0
S5x+ 12y =26
bx y 26

T+ 12 =
V(=5)% + (12)2 V52 + (122 J(-5)2 + (12)2
Divide both sides by v (coefficient of x)2 + (coefficient of y)2

5 .12
3T 13Y T
S0, p=2

Third line: 7x + 24y = 50
TR y 50

+ 24 =
J7 + (24)2 JOOZ+ 292 (1) + (29)2
Divide both sides by \/ (coefficient of x)2 + (coefficient of y)?2

8. p=2
=~ The origin is equidistant from the given lines.
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1. Find the point of intersection of the following pairs of lines:
(i)2x-y+3=0andx+y-5=0

(ii) bx + ay = ab and ax + by = ab

Solution:

@) 2x—-y+3=0andx+y-5=0

Given:

The equations of the lines are as follows:

2x—-y+3=0...(1)

x Fy—35=0 ... 12}

Let us find the point of intersection of pair of lines.

By solving (1) and (2) using cross - multiplication method, we get

X y 1
5—-3 3+10 2+ 1
X y 1
2 13 3

x=2/3andy=13/3
=~ The point of intersection is (2/3, 13/3)

(ii) bx + ay = ab and ax + by = ab

Given:

The equations of the lines are as follows:

bx +ay—ab=0... (1)

ax +tby=ab=ax+by—ab=0...(2)

Let us find the point of intersection of pair of lines.

By solving (1) and (2) using cross - multiplication method, we get

X A y J

—a?b + ab2  —a2b + ab? b2 — a2
X n; y B 1

ab(b—a) ab(b—a) (a + b)(b—a)

ab ab

a+band y = a+b
=~ The point of intersection is (ab/a+b, ab/a+b)

2. Find the coordinates of the vertices of a triangle, the equations of whose sides are:
()x+y-4=0,2x-y+30andx-3y+2=0

(ii) y (tl + tz) =2x + Zatltz, Y (tz T t3) =2x + 23t2t3 and, y(t3 o+ tl) =2x + 23t1t3.
Solution:
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()x+y—-4=0,2x—-y+30andx-3y+2=0

Given:

x+y—4=0,2x—y+3=0andx—3y+2=0

Let us find the point of intersection of pair of lines.

x+y—4=0 .. (L)

2% —y+3=1 .. (2)

=g+ 2=0 e (3)

By solving (1) and (2) using cross - multiplication method, we get
X y i

3—-4 —-8-3 —-1-2

x=13,y=11/3

Solving (1) and (3) using C{OSS - multiplication method, we get
X

a—12 —&—8 B—1

x =52, yv=312
Similarly, solving (2) and (3) using cross - multiplication method, we get
X vy 1
-2+9 3-4 —6+1
% =~ 15, y= 15

=~ The coordinates of the vertices of the triangle are (1/3, 11/3), (5/2, 3/2) and (-7/5, 1/5)

(ii) y (tl I tz) = 2x + 2atit,, y (t2 et t3) = 2x + 2at,t3 and, Y(t_; o tl) = 2x + 2atits.
Given:

y (tl + tz) =2x +2a tita, y (t2 + t3) = 2x + 2a t,t3 and y (t3 I tl) =2x +2atts
Let us find the point of intersection of pair of lines.

2X -y (tl +t2) +2at1t2 0. (1)

2X—Y(t2 +t3) +2at2t3 = (2)

2X—Y(t3 +t1) it 2a5%=0... (3)

By solving (1) and (2) using cross - multiplication method, we get
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X i i
—(t; + t,) X 2at,t; + (t, + t3)2at,t,  4at,t; —4at,t,
1
ks F Bl B R
B —2(t, + t3) + 2(t; + t,) e
4at2t3 T 4’at1t2

= — = 2at
y —2(t, + t3) + 2(t; + t,) atz

Solving (1) and (3) using cross - multiplication method, we get
X i
1
_(tl + tz) >< Zat1t3 + (tg + tl)zatltz 2
- —2(t3 + tl) + Z(tl + tz) 1 i
4at1t3 - 4‘at1t2

B TINEY El

Solving (2) and (3) using cross - multiplication method, we get
X = J

—(t, + t3) X 2atyt; + (t3 + t,)2at,t;  4at,t; — 4at,t,

1
T 20, Q) + XL, + )
—(t, + t3) xQat, 14 tahls + t,)2at,t,

B —2(t; + ty) + 2(t, + t3) T
4at1t3 & 4'at2t3

—2(6 )7+ 2(t, + t3)

- The coordinates of the vertices of the triangle are (at’;, 2at,), (at, 2at,) and (at’s, 2ats).

y = = 2at;

3. Find the area of the triangle formed by the lines
y=mx+c¢,y=mx+c;andx=0

Solution:

Given:

V=1 + B wex (1)

¥ =TgX + G ... (2)
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X =0 .. (3)
In triangle ABC, let equations (1), (2) and (3) represent the sides AB, BC and CA,
respectively.
Solving (1) and (2), we get
C2—C m;C; —MyCy

X — —,y —
m—m, m, —m,

€z—Cy; DMy Cx—MyCy
Thus, AB and BC intersect at B (m ,—m,’ m,-m, )
Solving (1) and (3):
X = 0, y=¢
Thus, AB and CA intersect at A 0,c;.

Similarly, solving (2) and (3):

x=0,y=c,
Thus, BC and CA intersect at C 0,c,.
0 Cy 1
0 C, 1
~ Areaof triangle ABC =2 [ €27€1  MiC27Ma6 4
m; —mgy m; —mgy
1 Cz ak Cl )
1
m; — 1y

4. Find the equations of the medians of a triangle, the equations of whose sides are:
3x+2y+6=0,2x—-5y+4=0and x-3y-6=0

Solution:

Given:

3x 4250 = (1)

2x=5y+4=0...(2)

X—W-—6379...(3)

Let us assume, in triangle ABC, let equations (1), (2) and (3) represent the sides AB, BC
and CA, respectively.

Solving equations (1) and (2), we get

x =2 %=1

Thus, AB and BC intersect at B (=2, 0).
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Now, solving (1) and (3), we get
x=-6/11,y=-24/11
Thus, AB and CA intersect at A (-6/11, -24/11)

Similarly, solving (2) and (3), we get
x=—42 y=—16
Thus, BC and CA intersect at C (—42, —16).

Now, let D, E and F be the midpoints the sides BC, CA and AB, respectively.
Then, we have:

B (—2—4—2 0—16) _ (-22,-8)
B a " 2 & ’
6 24
e (SR i)zt 1oy
2 ’ a 1" 11
6 24
P e e il (-5 -
2 ’ 2 11" AT
Now, theequation ofthe median AD is
24
L2 —8 + ﬁ( N 6)
YTt o, 6\
11

16x—59y—120=0

The equation of median CF is

12+16

y+16 = 1L (x + 42)

14
11 + 42

41x-112y-70=0

And, theequation of the median BE is
_100
y=0= 49
~q T A
25x—53y+50=0

=~ The equations of the medians of a triangle are: 41x — 112y —70 =0,
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16x — 59y — 120 =0, 25x — 53y + 50 = 0

5. Prove that the lines y = V3x + 1, y =4 and y = -V3x + 2 form an equilateral
triangle.

Solution:

Given:

y=Vx+1...... (1)

T, soume 2)

y=-\3x+2....... (3)

Let us assume in triangle ABC, let equations (1), (2) and (3) represent the sides AB, BC
and CA, respectively.

By solving equations (1) and (2), we get

x =3, y=4

Thus, AB and BC intersect at B(V3,4)

Now, solving equations (1) and (3), we get
x=1/2\3,y=3/2

Thus, AB and CA intersect at A (1/23, 3/2)
Similarly, solving equations (2) and (3), we get
x=-2\3,y=4

Thus, BC and AC intersect at C (-2/73,4)

Now, we have:

AB=j(;1E_ ) G- -
o s+ &) 6 -

o (G w6 -

Hence proved, the given lines form an equilateral triangle.
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1. Prove that the following sets of three lines are concurrent:
(i) 15x - 18y +1=0,12x + 10y -3 =0 and 6x + 66y — 11 =0
(i) 3x-5y-11=0,5x+3y—-7=0and x+ 2y =0

Solution:

(i) 15x—18y+1=0,12x +10y—3=0and 6x + 66y — 11 =0
Given:

I5x—18y+1=0...... (1)

12x+10y—-3=0...... (11)

6x+66y—11=0...... (111)

Now, consider the following determinant:

15 —-18 1
12 19  —3|=15(-110+198)+18(-132+18)+ 1(792 - 60)
6 66 —11

= 13202052+ 732=10
Hence proved, the given lines are concurrent.

(ii)3x—-5y—-11=0,5x+3y—-7=0andx +2y=0
Given:

I —3y— L1 =0 . cone (1)

B P IF=T=1 sorues (11)

R | N (iii)

Now, consider the following determinant:

3 —& —11
b 3 —71=3%14+5x7-11x7=0
1 2 0

Hence, the given lines are concurrent.

2. For what value of A are the three lines 2x - Sy +3=0,5x-9y+A=0and x -2y +
1 =0 concurrent?

Solution:

Given:

2x 45y +3=0...(1)

gl oy +1=0...(2)

x—2y+1=0...(3)

It is given that the three lines are concurrent.

Now, consider the following determinant:
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Z —b B
“5 —9 Al =10
1 —2 4

2(9+20)+505-A)+3(-10+9)=0
-18+4A+25-50-3=0

A=4

~ The value of A 1s 4.

3. Find the conditions that the straight lines y = m;x + ¢;, y =m;x + ¢; and y = max +
¢3 may meet in a point.

Solution:

Given:

mlx—y+ C1 = 0... (1)

1'1'12X—y+ Cs = 0... (2)

m3X—y+C3:O (3)

It is given that the three lines are concurrent.

Now, consider the following determinant:

L mz == 1 Cz — 0
m3 e 1 C3

ml(-c3 Ea 02) + 1(11’1203-11’1302) ~+- Cl(-mz + m3) =0
ml(Cz-Cj,) 7 m2(03-01) + m3(01-02) =1
= The required condition is m;(c,-c3) + my(c3-¢;) + ms(ci-c;) =0

4. If the lines p;x + q1y = 1, p>x + q2y = 1 and p;3x + qzy = 1 be concurrent, show that
the points (p1, q1), (P2, q2) and (ps, q3) are collinear.

Solution:
Given:
pix+tqy=1
px +qoy = 1
psx+qay=1

The given lines can be written as follows:

B XLy 1=0...(1)
Px+Qy-1=0...(2)
P:3X§qsy—-1=0...(3)

It is given that the three lines are concurrent.
Now, consider the following determinant:
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P 91 —1
p; q; -1
P qz; —1

P q; 1
P q; 1
P gz 1

P q; 1
P q; 1
P gz 1

Hence proved, the given three points, (p1, q1), (P2, q2) and (ps, qs3) are collinear.

=0

=0

=0

5. Show that the straight lines L; =(b+c¢)x+ay+1=0,L,=(c+a)x+by+1=0
and L; =(a+b)x+ ¢y + 1 =0 are concurrent.
Solution:

Given:

Li={(btex+ap+1=0
Is=(e+ax+by+1=0
[3=(@+b)x+tcy+1=0

The given lines can be written as follows:
(b+e)x +ay+1=0...(1)
(c+tayx+by+1=0...(2)

(a+b)x +ey+1=0...(3)

Consider the following determinant.

b+c a 1
c+a b 1
a+b c 1

Let us apply the transformation C;—C; + C,, we get

FeS.c” al a+b+c a1
c+a b 1l=|c+a+b b 1
a+bx 1 a+b+c c 1
b+c a 1 1 a 1
c+Farb 1l=@G@+b+cJ1 b 1
a+b c 1 i £ 2
b+c a1

c+a b 1] =0

a+b c 1

Hence proved, the given lines are concurrent.
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1. Find the equation of a line passing through the point (2, 3) and parallel to the line
3x—4y+5=0.

Solution:

Given:

The equation is parallel to 3x — 4y + 5 = 0 and pass through (2, 3)
The equation of the line parallel to 3x —4y +5=0is
3x—4y+A=0,

Where, A is a constant.

It passes through (2, 3).

Substitute the values in above equation, we get
32-43)+A=0

6-12+1=0

A=6

Now, substitute the value of A =6 in 3x — 4y + A =0, we get
Ix—4y+6

=~ The required line is 3x —4y + 6 = 0.

2. Find the equation of a line passing through (3, -2) and perpendicular to the line x
-3y +5=0.

Solution:

Given:

The equation is perpendicular to x — 3y + 5 = 0 and passes through (3,-2)
The equation of the line perpendicular to x —3y+5=01s
3x+y+A=0,

Where, A 1s a constant.

It passes through (3, — 2).

Substitute the values in above equation, we get

3B3)+(-2)+A=0

9-2+A=0

A=87

Now, substitute the value of A=—7in3x+y+A=0, we get
3x+y-7=0

=~ The required lineis 3x +y—7=0.

3. Find the equation of the perpendicular bisector of the line joining the points (1, 3)
and (3, 1).
Solution:
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Given:
A (1, 3) and B (3, 1) be the points joining the perpendicular bisector
Let C be the midpoint of AB.
So, coordinates of C = [(1+3)/2, (3+1)/2]

=(2,2)
Slope of AB = [(1-3) / (3-1)]

=-1

Slope of the perpendicular bisector of AB = 1
Thus, the equation of the perpendicular bisector of AB is given as,
y—2=1x-2)
y=X
x—-y=0
= The required equation is y = x.

4. Find the equations of the altitudes of a AABC whose vertices are A (1, 4), B (-3, 2)
and C (-5, -3).

Solution:

Given:

The vertices of AABC are A (1,4), B (—3,2)and C (-5, — 3).

Now let us find the slopes of AABC.

A(1,4)

B (-3,2) C (-5,-3)
Slope of AB =[(2-4)/(-3-1)]
K

Slope of BC =[(-3 - 2) / (-5+3)]
=52

Slope of CA=[(4 +3) /(1 +5)]
=17/6
Thus, we have:
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Slope of CF = -2
Slope of AD =-2/5
Slope of BE = -6/7
Hence,

Equation of CF is:
y+3=-2x+35)
y+3=-2x-10
2x+y+13=0

Equation of AD is:
y—4=(2/5)(x-1)
S5y—-20=-2x+2
2x +5y—-22=0

Equation of BE is:

y—2=(-6/7) (x+3)

7y —14 =-6x - 18

6x+7y+4=0

=~ The required equations are 2x +y + 13 =0,2x + 5y—-22=0,6x + 7y + 4=0.

5. Find the equation of a line which is perpendicular to the line\3x — y+5=0and
which cuts off an intercept of 4 units with the negative direction of y-axis.
Solution:

Given:

The equation is perpendicular to V3x — y + 5 = 0 equation and cuts off an intercept of 4
units with the negative direction of y-axis.

The line perpendicular to V3x — y+5=0isx+V3y+1=0

It is given that the line x + V3y + A = 0 cuts off an intercept of 4 units with the negative
direction of the y-axis.
This means that the line passes through (0,-4).

So,

Let us substitute the values in the equation x + 3y + 1 = 0, we get
0-V3(4)+r=0

A= 43

Now, substitute the value of A back, we get
X +\3y+4V3=0
». The required equation of line is x + V3y + 4V3 = 0.
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1. Find the angles between each of the following pairs of straight lines:
(i)3x+y+12=0andx+2y-1=0
(ii))3x—-y+5=0andx-3y+1=0

Solution:

(@)3x+y+12=0andx+2y—1=0

Given:

The equations of the lines are

Ix+y+12=0...(1)

x+2y—1=0...2)

Let m; and m, be the slopes of these lines.

m; = -3, mp; = -1/2

Let 0 be the angle between the lines.

Then, by using the formula

tan 6 = [(m; —my) / (1 + mymy)]

=[(-3+ 122) /(1 +3/2)]

=]

So,

0 = m/4 or 45°

=~ The acute angle between the lines is 45°

(ii)3x—y+5=0andx—-3y+1=0
Given:
The equations of the lines are
—9+3I=0 . {1)
x—=3p+1=0._1{2)
Let m; and m; be the slopes of these lines.
m; = 3, my = 1/3
Let 0 be the angle between the lines.
Then, by using the formula
tan 6 = [(m; —my) / (1 + mymy)]
&[(341/3)/(1+1)]
=4/3
So,
0 =tan" (4/3)
~. The acute angle between the lines is tan™ (4/3).
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2. Find the acute angle between the lines 2x —y+3=0and x+y+2 =0.
Solution:

Given:

The equations of the lines are
2Z~y+3=10 ...[1}

x+y+2=0...(2)

Let m; and m;, be the slopes of these lines.
m; = 2, mp, = -1

Let 0 be the angle between the lines.
Then, by using the formula

tan 6 = [(m; — my) / (1 + mymy)]
=[2+1)/(1+2)]

=3

So,

0 =tan" (3)

=~ The acute angle between the lines is tan” (3).

3. Prove that the points (2, -1), (0, 2), (2, 3) and (4, 0) are the coordinates of the
vertices of a parallelogram and find the angle between its diagonals.

Solution:

To prove:

The points (2, -1), (0, 2), (2, 3) and (4, 0) are the coordinates of the vertices of a
parallelogram

Let us assume the points, A (2, — 1), B (0, 2), C (2, 3) and D (4, 0) be the vertices.
Now, let us find the slopes

Slope of AB = [(2+1) / (0-2)]
=-3/2

Slope of BC = [(3-2) / (2-0)]
&

Slope of CD = [(0-3) / (4-2)]
=-3/2

Slope of DA = [(-1-0) / (2-4)]
=15
Thus, AB is parallel to CD and BC is parallel to DA.
Hence proved, the given points are the vertices of a parallelogram.
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Now, let us find the angle between the diagonals AC and BD.
Let m; and m;, be the slopes of AC and BD, respectively.
m; = [(3+1) / (2-2)]

=00

my = [(0-2) / (4-0)]
=-1/2

Thus, the diagonal AC is parallel to the y-axis.
£ODB = tan™ (1/2)

In triangle MND,
£DMN =m/2 - tan™ (1/2)
- The angle between the diagonals is /2 - tan™ (1/2).

4. Find the angle between the line joining the points (2, 0), (0, 3) and the line x +y =
1.
Solution:
Given:
Points (2, 0), (0, 3) and the line x + y = 1.
Let us assume A (2, 0), B (0, 3) be the given points.
Now, let us find the slopes
Slope of AB=m;
=[(3-0)/ (0-2)]
=-3/2

Slope of the linex +y=11s -1
S 1My = -1

Let 0 be the angle between the line joining the points (2, 0), (0, 3) and the line x +y =
tan 6 = [[(m; —my) / (1 + mymy)]|

= [(-327 1)/ (1+3/2)]

=15
6 =tan" (1/5)
=~ The acute angle between the line joining the points (2, 0), (0, 3) and the line x +y =1
is tan™ (1/5).
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1. Find the angles between each of the following pairs of straight lines:
()3x+y+12=0andx+2y-1=0
(ii)3x-y+5=0andx-3y+1=0
Solution:
@)3x+ty+12=0andx+2y—1=0
Given:
The equations of the lines are
Etytil2=0...41)
2 F27=1=U ser{Z)
Let m; and m, be the slopes of these lines.
m; = -3, m,; = -1/2
Let 0 be the angle between the lines.
Then, by using the formula
tan 6 = [(m; —my) / (1 + mymy)]
=[(-3+1/2)/(1+3/2)]
=1
So,
0 = /4 or 45°
=~ The acute angle between the lines is 45°

(ii)3x-y+5=0andx-3y+1=0
Given:
The equations of the lines are
35—+ 5 =0 s ll]
x—3v+1=0 4 (2)
Let m; and m; be the slopes of these lines.
m; = 3, mp; = 1/3
Let 0 be the angle between the lines.
Then, by using the formula
tan 6 = [(1'1'11 = 1'1'12) / (1 go mlmz)]

&l3s 1/3)/ (1 +1)]

=4/3
So,
0 =tan" (4/3)
- The acute angle between the lines is tan™ (4/3).



www.edugross.com

| EDUGROSS

WISDOMISING KNOWLEDGE

2 — y+55ﬁ@w{1}
x+y %l*‘ﬂﬂ S

tan B= Emwﬁjg}fﬁ ‘*’mmmﬁ]
a%@ 131 +2)]

e othe poios. A 2.~ 1) B(0.2), C (2. 3 and D (4, 0) bothe veties
HEORCEImDEO

= -2

ol Tr




| EDUGROSS

www.edugross.com

RD Sharma Solutions for Class 11 Maths

e Chapter 23 — The Straight Lines

Now, let us find the angle between the diagonals AC and BD.
Let m; and m; be the slopes of AC and BD, respectively.
m; =[(3+1) / (2-2)]

=00

m, = [(0-2) / (4-0)]
=-1/2

Thus, the diagonal AC is parallel to the y-axis.
£0ODB = tan™ (1/2)

In triangle MND,
£DMN = 7/2 - tan™ (1/2)
= The angle between the diagonals is 7/2 - tan™ (1/2).

4. Find the angle between the line joining the points (2, 0), (0, 3) and the line x +y =
1.
Solution:
Given:
Points (2, 0), (0, 3) and the line x + y = 1.
Let us assume A (2, 0), B (0, 3) be the given points.
Now, let us find the slopes
Slope of AB =m;
=[(3-0)/(0-2)]
=-3/2

Slope of the linex +y=1 s -1
S My = -1

Let 0 be the angle between the line joining the points (2, 0), (0, 3) and the line x +y =
tan 6 = [[(m; — my) / (1 + mymy)]|

= [(-3/8F+ 1)/ (1 +3/2)]

=145
0 =tan” (1/5)
=~ The acute angle between the line joining the points (2, 0), (0, 3) and the line x +y = 1
is tan™ (1/5).
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5.1If 0 is the angle which the straight line joining the points (x;, ¥;) and (X3, ¥2)

X>¥1 — XY Xi¥> ~ V(¥
o tanf=———"-= cos0 = R
subtends atthe origin, prove that XX, ~¥¥, and \/Xl_ ~ ¥ \fXE ~¥3
Solution:
We need to prove:
tan@ = X2¥=¥V2 gndcos® = =z
X)X +¥1¥2 JKE 4 J.ng +y2
Ya
A(x,y,)
B(x,Y,)
X » >)(
o
vy

Let us assume A (x;, y;) and B (x,, y») be the given points and O be the origin.
Slope of OA = m; =y

Slope of OB = m, = yax»
It is given that 0 is the angle between lines OA and OB.
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ml = mz
1+m,m,
Now, substitute the values, we get

i _ Y2
X3 X
1+ 0y 2

X X
X 1 — X
tan@ = 2¥1 1¥z2
X)Xz +¥1¥2

Now, 0 = 1
Aswe knowthat ‘O3 Y = |11 tanze

Now, substitute the values, we get

X)Xz +¥i¥2

tan® =

cosB =

v'( (2¥1 — %,¥2)% + (1% +y,¥2)?
cosf = X X2 +¥,1¥2

[y s+ + i3
cosh = X Xz +¥1¥z

. '
N +Y1J"z +y3

Hence proved.
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1. Find the values of a so that the point P(a 2, 0) lies inside or on the triangle formed
by the lines x -5y +6=0,x-3y+2=0and x-2y-3=0.

Solution:

Given:

X—5y+6=0x—3y+2=0andx —2y—3 =0 forming a triangle and point P(c’, ) lies
inside or on the triangle

Let ABC be the triangle of sides AB, BC and CA whose equations are x — 5y +6 = 0,

x —3y+2=0andx — 2y — 3 =0, respectively.

On solving the equations, we get A (9, 3), B (4, 2) and C (13, 5) as the coordinates of the
vertices.

A (9,3)

X-5y+6=0 x-2y-3=0

®
P(a%a)

B (4,2 C (13,5
(42) x-3y+2=0 ( )

It is given that point P (o, a) lies either inside or on the triangle. The three conditions are
given below.

(1) A and P must lie on the same side of BC.

(1) B and P must lie on the same side of AC.

(111) C and P must lie on the same side of AB.

If A and P lie on the same side of BC, then
(9 -9 +2)(o* —30+2)>0
(a=2)(a-1)=0
aE(-o1]JU[2,0)...(1)

If B and P lie on the same side of AC, then
1 - 3) (*-20-3)>0
(a—3)a+1)<0

a€[-1,3]...(2)
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If C and P lie on the same side of AB, then
(13 =25+ 6)(a* — 50+ 6) >0
(a—3)a-2)<0

GEe]2 3] .. O)

From equations (1), (2) and (3), we get
o€ [2, 3]

L0€ [2, 3]

2. Find the values of the parameter a so that the point (a, 2) is an interior point of
the triangle formed by the linesx+y—-4=0,3x-7y—-8=0and 4x-y-31=0.
Solutions:

Given:

x+y—4=0,3x—7y—-8=0and 4x —y— 31 = 0 forming a triangle and point (a, 2)is an
interior point of the triangle

Let ABC be the triangle of sides AB, BC and CA whose equations are x +y —4 =0,

3x —7y—8=0and 4x —y — 31 =0, respectively.

On solving them, we get A (7, - 3), B (18/5, 2/5) and C (209/25, 61/25) as the coordinates
of the vertices.

Let P (a, 2) be the given point.

A(7-3)

X+y-4=0 4x-y-31=0

P(a,2)

g 18,2 c(209 61
5’5 3x-7y-8=0 25 ’ 25

It is given that point P (a, 2) lies inside the triangle. So, we have the following:
(1) A and P must lie on the same side of BC.

(i1) B and P must lie on the same side of AC.

(1i1) C and P must lie on the same side of AB.

Thus, if A and P lie on the same side of BC, then
21+21-8-3a—-14-8>0
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022 e L)
If B and P lie on the same side of AC. then
18 2
4 x?—g—Bl— 4a-2-31> 0
a<33/4...(2)

If C and P lie on the same side of AB. then

S R . +2-4>0
25 T 25" =

Z-4-a+2-4>0

a2 ... 13)
From (1), (2) and (3), we get:
A €(22/3,33/4)
~ A €(22/3,33/4)

3. Determine whether the point (-3, 2) lies inside or outside the triangle whose sides
are given by the equationsx+y-4=0,3x -7y +8=0,4x -y -31=0.

Solution:

Given:

x+y—-4=0,3x -7y +8=0, 4x —y—31 =0 forming a triangle and point (-3, 2)

Let ABC be the triangle of sides AB, BC and CA, whose equations x +y —4 =0, 3x — 7y
+ 8=0and 4x —y — 31 =0, respectively.

On solving them, we get A (7, - 3), B (2, 2) and C (9, 5) as the coordinates of the vertices.
Let P (— 3, 2) be the given point.

A (7-3)

X+y-4=0 4x-y-31=0

B (2,2 C (9,5
(2:2) 3x-7y+8=0 (%:9)

The given point P (— 3, 2) will lie inside the triangle ABC, if
(1) A and P lies on the same side of BC
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(i1) B and P lies on the same side of AC
(1i1) C and P lies on the same side of AB

Thus, if A and P lie on the same side of BC, then
21+21+8-9-14+8>0

50x-15>0

=750 >0,

This is false

=~ The point (3, 2) lies outside triangle ABC.
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1. Find the distance of the point (4, 5) from the straight line 3x - Sy + 7 =0.
Solution:

Given:

The line: 3x -5y +7=0

Comparing ax + by + ¢ =0 and 3x — 5y + 7 =0, we get:
a=3,b=—5andc=7

So, the distance of the point (4, 5) from the straight line 3x — 5y +7=01s

d - ax1+byl+c
\,a2+b2

3IX4-5X5+7

NerTers)

V3
= The required distance is 6/\34

| o

2. Find the perpendicular distance of the line joining the points (cos 0, sin 0) and
(cos ¢, sin ¢) from the origin.

Solution:

Given:

The points (cos 0, sin 0) and (cos ¢, sin ¢) from the origin.

The equation of the line joining the points (cos 0, sin 0) and (cos ¢, sin ¢) is given below:
sing — sinB

cos¢ — cosO (Y0
(cosd — cosB)y — sinB(cosp — cosB) = (sing — sinB)x — (sing —
sinB)cosO

y — sinf =

(sing — sinB)x — (cosd — cosB)y + sinBcos¢d — sindcosd = 0
Let d be the perpendicular distance from the origin to the line
(sing — sinB)x — (cosdp — cosB)y + sinBcosd — sinpcosd = 0

sinB — ¢
V’(sinq) —5inB)? + (cosd — cosB)?

d =

sin® — ¢
JsinZ ¢ + sin28 — 2sindsind + cos2 ¢ + cos?B — 2cosdcosh




www.edugross.com

| EDUGROSS

WISDOMISING KNOWLEDGE RD Sharma Solutions for Class 11 Maths
Chapter 23 — The Straight Lines

sin@ — ¢
Vsin? ¢ + cos? + sin? 6 + cos ¢ + cos?0 — 2cos(B — P)

écsin(e )
J1—cos(8 —¢)

- sin(6 — &)
= Sl—=
Ve f2sin?(57)

- cos(559

. ' i 8-
. The required distance is €08 (T)

3. Find the length of the perpendicular from the origin to the straight line joining
the two points whose coordinates are (a cos a, a sin &) and (a cos J, a sin B).
Solution:
Given:
Coordinates are (a cos @, a sin &) and (a cos f3, a sin ).
Equation of the line passing through (a cos a, a sin o) and (a cos 3, a sin B) is

asinff — asina

— asina = X — acosa
y acosf — acosa( )
_ sinf — sina
y — asina =&————(X — acosa)
cosf — cosa

2 cos (B @) gin (B =@
y — asina = Z::EB g_ a;:i}:ga 2 Bg (x — acosa)

+ B
y — asina = — cot( 2 )(x — acosq)
. a+ P
y — asina = — cot( > )(x — acosq)
a+ B _ a+ B
xcot( ) + y — asina — acosacot( > ) =0

The distance ofthe line from the origin is
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—asina — acosd cot(a —5 B)
d -
\/cotz (—(a ; B)) +1

. z+ B
—asina — acosacot{—;

(a + B))
g AL T B
Jcosec ( 2 v cosec’® = 1 + cot?0

o+ By a+ B
=a|sm( > )sma+cosacos( > )l

=)

o

B) + cosacos (

— Z:l.|COS((x ;- B = (X)| = EICOS(B ; a)

= a |sina sin(

. . ; B—a
. The required distanceis @ COS (T)

4. Show that the perpendicular let fall from any point on the straight line 2x + 11y —

5 =0 upon the two straight lines 24x + 7y =20 and 4x — 3y — 2 = 0 are equal to each
other.

Solution:

Given:

The lines 24x + 7y =20 and 4x —3y—-2=0

Let us assume, P(a, b) be any pointon 2x + 11y —5=0

So,
2a+11b—5=0
5 — 24
b= W - - (1)

Let d; and d, be the perpendicular distances from pointP
onthelines 24x+ 7y =20 and 4x — 3y — 2 = 0, respectively.

24a+7b-20

d1=

24a+7b - 20|

V242 + 72 25
5—2a
Ll
25

24a+7 X - 20

From (1)
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_ |s0a- 37|
dy= 55
Similarly,
4a—3b —2 43_3)(5:12;_2
dy= J3z+(-42| 5
_ 44a-1s+6a-22|
- 11x5
From (1)
50a —37
Sl |
l.l dl = d2
Hence proved.

5. Find the distance of the point of intersection of the lines 2x + 3y = 21 and 3x — 4y +
11 =0 from the line 8x + 6y + 5 =0.
Solution:
Given:
The lines 2x + 3y =21 and 3x -4y + 11 =0
Solving the lines 2x + 3y = 21 and 3x — 4y + 11 = 0 we get:
X y 1

33 -8 —-63-22 —-8-9
x=3, =3
So, the point of intersection of 2x + 3y =21 and 3x —4y+ 11=01is (3, 5).
Now, the perpendicular distance d of the line 8x + 6y + 5 = 0 from the point (3, 5) is

24 +30+5 59
d= ¥

Jez+ez | 10

~ The distance is 59/10.
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1. Determine the distance between the following pair of parallel lines:
(i)4x-3y-9=0and 4x-3y-24=0
(ii) 8x+15y-34=0and 8x+ 15y +31=0
Solution:
(i)4x—-3y—-9=0and 4x-3y—-24=0
Given:
The parallel lines are
4x—-3y—9=0...(1)
4x —3y—24=0...(2)
Let d be the distance between the given lines.
So,
—~9 + 2%

4= J42 + (—-3)2

=~ The distance between givens parallel line is 3units.

_15_3 -
= = 3uni

(ii) 8x + 15y —34=0and 8x + 15y +31 =0
Given:

The parallel lines are
8x+15y—34=0...(1)

8%+ 159+ 31=0 ...12)

Let d be the distance between the given lines.

So,
|—34 — 31| 65 .
= |-———=—=| = ——units
Vv82Z + 152 17

=~ The distance between givens parallel line is 65/17 units.

2. The equations of two sides of a square are Sx — 12y —65=0 and Sx - 12y + 26 = 0.
Find the area of the square.

Solution:

Given:

Two side of square are 5x — 12y — 65 =0 and 5x — 12y + 26 =0

The sides of a square are

B 12y —65=0...(1)

5x— 12y +26=0...(2)

We observe that lines (1) and (2) are parallel.

So, the distance between them will give the length of the side of the square.
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Let d be the distance between the given lines.
—65 — 26

J52 + (—12)2
«. Area of the square = 7> = 49 square units

3. Find the equation of two straight lines which are parallel to x + 7y +2 = 0 and at
unit distance from the point (1, -1).

Solution:

Given:

The equation 1s parallel to x + 7y + 2 = 0 and at unit distance from the point (1, -1)

The equation of given line is

2+ Iy +2=0 ... (1)

The equation of a line parallel to line x + 7y + 2 = 0 is given below:

x+Ty+hk=0 ... (2)

The line x + 7y + A = 0 is at a unit distance from the point (1, — 1).

So,
1=1-7+X1 +49
A—6=%5\2

A=6+5V2,6-5V2

now, substitute the value of A back in equation x + 7y + A = 0, we get
X+7y+6+5V2=0andx + 7y + 6 - 52

= The required lines:

X+7y+6+5V2=0and x + 7y + 6 - 52

4. Prove that the lines 2x + 3y = 19 and 2x + 3y + 7 = 0 are equidistant from the line
2x + 3y =6.

Solution:

Given:

The lines A, 2x + 3y =19 and B, 2x + 3y + 7 =0 also a line C, 2x + 3y = 6.

Let d; be the distance between lines 2x + 3y = 19 and 2x + 3y = 6,

While d, is the distance between lines 2x + 3y +7 =0 and 2x + 3y =6

—-19 — (—6) 7—(—-6)
dl= and d2= —_——————
13 13
d=|—— =\/13and d’=|— =\/13

' Vi3 Vi3

Hence proved, the lines 2x + 3y = 19 and 2x + 3y + 7 = 0 are equidistant from the line 2x
+3y=6
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5. Find the equation of the line mid-way between the parallel lines 9x + 6y —7 =0
and 3x + 2y + 6= 0.

Solution:

Given:

9x + 6y — 7 =0 and 3x + 2y + 6 = 0 are parallel lines

The given equations of the lines can be written as:

3IX+2y—7/3=0...(1)

3x+2y+6=0...(2)

Let the equation of the line midway between the parallel lines (1) and (2) be
3x+2y+x=0...03)

The distance between (1) and (3) and the distance between (2) and (3) are equal.

7
—g—k_|6—x
v3Z + 22| |32 + 22
A+7—|6 Al
3| =
6-A A+7
ST 3
1
6

Now substitute the value of A back in equation 3x + 2y + A = 0, we get
3x+2y+11/6 =0

By taking LCM

18x+ 12y +11=0

= The required equation of line is 18x + 12y + 11 =0
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EXERCISE 23.17 PAGE NO: 23.117

1. Prove that the area of the parallelogram formed by the lines
ax+tby+tc=0,ax+byy+di=0,ax+byy+c;=0,ax+by+d,=0

(d; —¢)(d; —¢,)
a,b, —a,b,

is $q. units.

Deduce the condition for these lines to form a rhombus.
Solution:

Given:

The given lines are

a1x +b1y+ c1=0... (1)

31X+b1y+ d;=0... (2)

a2x+b2y+ Cr = 0... (3)

x+tby+d,=0...(4)

Let us prove, the area of the parallelogram formed by the lines a;x + bjy + ¢; =0, ajx +
(dy —c,)(dz —c3)

biy+d;=0,ax+by+c,=0,ax+by+d,=0is ! (aib2—azby) 15sq. units.

The area of the parallelogram formed by the lines a;x + byy +¢; =0, a;x + byy +d; =0,
a,X + boy + ¢, =0 and ax + byy + d, = 0 1s given below:

‘¢, —d,;’ —d,

Ao — (cy all)(‘;zz 2)

b i)

. 4 4dp b b

Since, Ib1 b2| = a;b,—a)b;
. (¢, —dy)(ez —dz) (dy —cy)(dz —c3)
S Area = = :

(a,bp —azb,) (a bz —azb,)

If the given parallelogramis a rhombus, then the distance between the pairof
parallel lines is equal.

c,—d, ¢z —ds

E
;af+bf Ja§+b§

Hence proved.



www.edugross.com

RD Sharma Solutions for Class 11 Maths
Chapter 23 — The Straight Lines

EDUGROSS

WISDOMISING KNOWLEDGE

2. Prove that the area of the parallelogram formed by the lines 3x -4y +a=0,3x -
4y +3a =0, 4x — 3y —a =0 and 4x — 3y — 2a = 0 is 2a’/7 sq. units.

Solution:

Given:

The given lines are

3x—4y+a=0...(1)

3x—4y+3a=0...2)

4x —3y—a=0... (3)

4x —3y—2a=0...(4)

Let us prove, the area of the parallelogram formed by the lines 3x —4y +a =0, 3x — 4y +
3a=0, 4x —3y—a=0and 4x — 3y — 2a = 0 is 2a*/7 sq. units.

From above solution, we know that

(ey —dy)(cz —dy)

Area of the parallelogram =
P &t (aybz —azby)
_ |(a-3a)(2a—-a)| _2 .
Area ofthe parallelogram = T (Ce+1e | — 7 Square units

Hence proved.

3. Show that the diagonals of the parallelogram whose sides are Ix + my + n=0, Ix +
my +n’=0, mx +1ly + n=0and mx +ly + n’ = 0 include an angle n/2.

Solution:

Given:

The given lines are

Ix+my+n=0...(1)

mx +1ly+n’ =0 ... (2}

Ix+my+n’=0...(3)

mx+ly+n=0...(4)

Let us prove, the diagonals of the parallelogram whose sides are Ix + my +n =0, Ix + my
+1n’=0, mx + ly +n =0 and mx + ly + n’ = 0 include an angle 7/2.

By solving (1) and (2), we get
i (mn' —In mn- ln')
B

2—m2’ 12 —m?

Solving (2)and (3), we get,
g (_ m+l m+l)

Solving (3)and (4), we get,
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mn-In" mn' -In

B & (12_m2’12_m2)

Solving (1)and (4), we get,
-n —n

A= (m+l’m+l)

Let m; and m; be the slopeof AC and BD.

Now,
—-n' n
_m+1+m+1_1
My = e n
m+1+m+l
mn —In mn-— In’
_12_m2_12_m2__
M =mn - Im mn — In — 1
E—m PE—m2
S mymp = -1

Hence proved.
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1. Find the equation of the straight lines passing through the origin and making an
angle of 45° with the straight line V3x +y = 11.
Solution:
Given:
Equation passes through (0, 0) and make an angle of 45° with the line V3x + V& 42
We know that, the equations of two lines passing through a point x1,y1 and making an
angle o with the given line y = mx + ¢ are
m*tana

Y N1 = [Fmang® X

Here,

x1=0,y;=0,0=45°andm=-3
So.theequations of the required lines are

—/3 + tan45°
y—0 = 1+ JEnAE (x —0)andy — 0

— /3 — tan45°
T 1 — J3tan45° 0

-V3+1 V3 + 1
=1+—\/§xandy=\/§_1x

3+ 1-—2V3 3+1+2V3
= — 3 —1 xandy = 3 _1 X

(V3 — 2)xandy = (V3 + 2)x
~ The equationofgivenline isy = (\/5 — 2)x andy = (V3 + 2)x

2. Find the equations to the straight lines which pass through the origin and are
inclined at an angle of 75° to the straight line x +y + V3(y - x) = a.

Solution:

Given:

The equation passes through (0,0) and make an angle of 75° with the line x +y + V3(y -
X) 8.

We know that the equations of two lines passing through a point x1,y1 and making an
angle a with the given line y = mx + ¢ are

m+tana
— = ———(Xx— X
Y =N =~ {Tmana 1)
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Here, equation of the given line is.
X+y+V3(y—x) = a

(V3+1)y=(V3-1)x+a
V3 -1 a
= V3 + T - V3 + 1
Comparing this equation withy=mx + ¢

We get.
V3 -1

m =
V3 +1

S Xy = 0,yl=0,0.=75°,

m=2"1_ 2 _ /3 andtan75°=2++3
e i o

So. the equations ofthe required lines are
R 2 — V3 + tan75° x — oy "
-0 = X — 0)andy —
J 1 —(2 - V3)tan75° 2

2 — 3 — tan75°

= & 6
1+ (2 - \/§)tan75°( )
2—Vf§+2+V"§ 2—\,’5—2—\,@
y = xandy = X
1 - (2 - V3)(2++3) 1+ (2 - vV3)(2 + V3)
- xandy = -3
y = - xandy = X

x=0andV3x+y =0
.. The equation of given line is X = 0 and V3x+y=0

3. Find the equations of straight lines passing through (2, -1) and making an angle of
45° with the line 6x + 5y — 8 = 0.

Solution:

Given:

The equation passes through (2,-1) and make an angle of 45° with the line 6x + 5y —8 =0
We know that the equations of two lines passing through a point x;, y; and making an
angle o with the given line y = mx + c are



www.edugross.com

S — RD Sharma Solutions for Class 11 Maths
I Chapter 23 — The Straight Lines

| EDUGROSS

e e
Y~ N =~ I Tmana 1)

Here, equation of the given line is,
6x+5y—-8=0

Sy=-6x+38

y =-6x/5 + 8/5

Comparing this equation with y =mx + ¢
We get, m = -6/5

Where, x; =2, y; =- 1, a =45°, m =-6/5
So, the equations of the required lines are

(— g + tan45°) (_ g B tan45°)

A (1+§tan45°) RN = = (1—-§—tan45°) a7 >
_6 _6_
y+l=%(x—2)andy+l=((5—6)l)(x—2)
1+g 1-;
y+1=—1—11(x—2)andy+1=—i—11(x—2)

x+1ly+9=0and 11x—-y—-23=0
=~ The equation of given lineisx + 1ly+9=0and 11x—-y—-23=0

4. Find the equations to the straight lines which pass through the point (h, k) and
are inclined at angle tan” m to the straight line y = mx + c.

Solution:

Given:

The equation passes through (h, k) and make an angle of tan™ m with the line y = mx + ¢
We know that the equations of two lines passing through a point x;, y; and making an
angle a with the given line y = mx + ¢ are

m’'=m
So,
m+tana
y=h = limtam(x(X ~ %)
Here,

X; =h, 1 =k, o=tan" m, m’'=m.
So, the equations of the required lines are
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_m+m( o Lo m-om .
y =1 - mz T vandy _1+1112(X )
b= 22 e Wiy~ k= D
y = Tl andy =

(y — k(1 — m?) = 2m(x — h)andy=k
~» The equation of givenline is (y — k)(1 — m?) = 2m(x — h) andv=k.

5. Find the equations to the straight lines passing through the point (2, 3) and
inclined at an angle of 45" to the lines 3x +y —5=0.

Solution:

Given:

The equation passes through (2, 3) and make an angle of 45°with the line 3x +y—5 = 0.
We know that the equations of two lines passing through a point x1,y1 and making an

angle a with the given line y = mx + ¢ are
m*tana
¥ =¥ = g
Here,
Equation of the given line is,
3 x+y-5=0
y=-3x+5
Comparing this equation with y = mx + ¢ we get, m=-3
X1 =2,y =3,0=450, m=-3.

So, the equations of the required lines are
—3 + tan45° —3 — tan45°

Yy~ 3= 1 ag e g\ Dandy -3 = -/ ns (& - 2)
—3+1 -3 -1
Yy B =m—(x—2)andy—3 =ﬁ(x—2)

ad
y—3=7(x—2)andy—3=2(x—2)

x+2y-8=0and2x-y—-1=0
=~ The equation of given lineisx +2y—-8=0and 2x—y—-1=0
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1. Find the equation of a straight line through the point of intersection of the lines 4x
—3y=0and 2x — Sy + 3 =0 and parallel to 4x +5y+ 6 =0.

Solution:
Given:
Lines 4x —3y =0 and 2x — 5y + 3 = 0 and parallel to4x +5y+ 6 =0
The equation of the straight line passing through the points of intersection of 4x — 3y =0
and 2x — 5y + 3 = 0 is given below:
4 =3y + A (2x~=5y+3) =0
A4+20)x+(—3-50)y+3r=0

4+ 2A 3A
y= (3+5Jx > (3 +5A)

The required line is parallel to 4x + 5y + 6 =0 or, y = -4x/5 — 6/5

4+20 ..

3450 5

4+20 4

3+5. 5

=-16/15
=~ The required equation is

(4 32) (3 80) 8 _
15/% 15 s §
28x +35y—-48=0

2. Find the equation of a straight line passing through the point of intersection of x +
2y +3 =0 and 3x + 4y + 7 = 0 and perpendicular to the straight linex—y +9=0.
Solution:

Given:

x+2y+3=0and3x+4y+7=0

The equation of the straight line passing through the points of intersection of x + 2y + 3 =
Oand3x +4y+7=0is

X+ 2y+3+AM3x+4y+7)=0

(1+30)x+(2+40)y+3+7A=0

3 (Hﬂ)x (3+n)
VA 2 +4A 2 +4A

The required line is perpendiculartox —y+9=0or,y=x+9
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3. Find the equation of the line passing through the point of intersection of 2x — 7y +
11 =0and x + 3y — 8 = 0 and is parallel to (i) x = axis (ii) y-axis.

Solution:

Given:

The equations, 2x — 7y +11=0and x +3y—8=0

The equation of the straight line passing through the points of intersection of 2x — 7y +
11 =0and x + 3y — 8 =0 is given below:

2Zx—Ty+ 11 +AMx+3y—8)=10
(2 Fax+ =T +3y+ 11 —=8A=0

(i) The required line is parallel to the x-axis. So, the coefficient of x should be zero.
2+4=0

A=-2

Now, substitute the value of A back in equation, we get

O+ —=T=08)y+11+16=0

13¢—27=1

= The equation of the required line is 13y —27 =0

(ii) The required line is parallel to the y-axis. So, the coefficient of y should be zero.
-7+30=0

=75

Now, substitute the value of A back in equation, we get
Q2+73)x+0+11-8(7/3)=0

13x -23=0

=~ The equation of the required line is 13x —23 =0

4. Find the equation of the straight line passing through the point of intersection of
2x + 3y +1 =0 and 3x — Sy — 5 = 0 and equally inclined to the axes.

Solution:

Given:

The equations, 2x +3y+1=0and 3x —5y—-5=0

The equation of the straight line passing through the points of intersection of 2x + 3y + 1
7 0 anas®— 5y — 5=01s

22X 98y +1+ M3x—5y—8)=0

@V3\)x +(3—-5M)y+1—5A=0

y=-[2+310)/B-50)]—-[(1-5))/(3-5))]

The required line 1s equally inclined to the axes. So, the slope of the required line is either
lor=1
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So,
-[2+30)/B-50)]=1and-[2+30)/(3-50)]=-1
2-3L=3-5Aand 2 +3AL=3 -5\

A=5/2 and 1/8

Now, substitute the values of A in (2 + 30)x + (3 —5A)y + 1 — 5L =0, we get the
equations of the required lines as:

2+152)x+(3-252)y+1-252=0and 2+3/8)x+(3-5/8)y+1-5/8=0
19x —19y—-23=0and 19x + 19y +3 =0

= The required equation is 19x — 19y —23 =0and 19x + 19y +3=0

5. Find the equation of the straight line drawn through the point of intersection of
the lines x +y =4 and 2x — 3y = 1 and perpendicular to the line cutting off intercepts
5, 6 on the axes.

Solution:

Given:

The lines x + y=4 and 2x — 3y =1

The equation of the straight line passing through the point of intersection of x + y = 4 and
2x —3y=1is

% +y—d+i2x—3y—1)=0

A+20)x+(1-30)y—4—-1=0...(1)

y=-[1+20) /(1 -30)]x+[(4+X)/(1-30)]

The equation of the line with intercepts 5 and 6 on the axis is

X5 TP =1 10 (Z)

So, the slope of this line is -6/5

The lines (1) and (2) are perpendicular.

S=6/5 < [(-1+420) / (1 - 3] = -1

A=4l/3

Now, substitute the values of A in (1), we get the equation of the required line.
(1+2(113)x+(1-3(11/3))y—4-11/3=0
(1+223)x+(1-11)y-4-11/3=0

25x =30y —-23=0

~ The required equation is 25x — 30y — 23 =0



